P Y C X oo nav dv ndap nn R C X x X |, nvap X »nn .1
13153 MNAN MIYLN PN VN -S =RN (Y xY)

Y 5y 20170 970 o S <= X Yy »200170 DR (N)
Y Yy r20po91 970 o § <« X Yy »2100pven o R ()
Y 5y oo 970 oy S <= X Yy Moo oo R ()

X Yy »20pHve 7970 v R < Y Yy »200pve7 oS (1)
im(S)=Y < im(R) =X (")

dom(S) =Y < dom(R)=X ()

y'nn S <y'nnik (1)

Y Sy mopw o S < X Sy m>pw o R (N)

DN 0D DN POPOT DN NN DR DY MININ MNP TN 95 May .2
M>»PY DN IV PVIN DR PORII0

15 k> 1oyav 1990 o»ps nRm 3Tmn (0»yaon Yy o)k C N X N (N)
m AN DN N NIN D) PO kv

nRm < |n| <mymmn RCR xR (3)

2Ry < 3|(z +2y) "mmnR C N x N ()

P CXxX .npano X nyap My (M

AAB C A& (A,B) € R A,B C X 939 7mmn P(X) by o R (M)

(Ix 5 ©mwy> ymon ,mmin on XY R) aRb < a = b n¥ap X My ()

(a,b)R(c,d) & a® + b* = 77mn ( o»won nan Yy o R C R? x R? (1)
c? + d?

0K 4 v X av ymna X Dy v m>pw oo nnd .3

Y20PY9T NIN TN 2DVITITIVI VPO DN R DX ")) NI/)D) 4

A, B C R 95P(R) 5y o T3 .5
AN{-m0,3} =BN{-m0,3}< (A,B) € R
770N N¥APA ¥ DN NN .MPPY DN MY 7172

LA DY o pT A, Ag, . Ay DOV MINIAPTIN Q0N A NDNIAPH NN L6
P2 ORAN VAN VR Ji: z € A; Ay € A;& xRy

oot R A=A (N)
k=1

opven R= | Ar = A (3)
k=1
»OPY9 R<A; NA; =0 oopmm 1 <i < j <n 9 ()

oI R=A4;NA; = Porpmm 1 <i<j<nbvay (1



O ReEA;,NA; =0 ovpmn 1 <i < j <n 95 (N)
YT RN X Yy o R X =2 Xon oy X/ 7

POY YDV PDOPYIT O R n¥ap X NXOD . PO XO/)D) .8
m»pw o S 7N .aSb < aRbAbRa X 5y S on »Tn

S5y ,y'NN NN ORD f A — B ospanan May 9

flx)=|z[y A=NU{0},B=7Z (N

flx)=1]z|vA=Z,B=Q (2

fl(z,y) =21 A=NxN,B=N (»

VY € P(X), f(Y)=X\Y 1 2nwod n¥apX Mmay'A=B=P(X) (1)

10 ONIN PAN DN M RO msap A, B v .10

f:A— B spno norp (N)

f:A— By'nn mspns np»p (2)

f:A— B b5y mspns norp ()

f:A—= Ax Bynnmspns norp (1)

f:A— AxAD5y mspns na»p (M)

g:A— AXBY'nnpspna nmorp N f 1 A — B y'nn imspna no»p ox (1)
g:A— BXBYnNnmspno nm»p xR [ A — B Y'nn ospns nnrp ox (1)

PO NN PIAN 1PN DIDN OV 9D 1900 Mdya map A, B viv .11

|dom(f)| = lim(f)| v~ f: A— B y’nn on> 0»p DX (R)
|dom(f)| > lim(f)| ?~ f: A — B y’nn wrv on’ 0»p Ox ()
|[dom(f)| = [im(f)| ™ f: A— B 5y on 0»p ox ()



